Density

Density

15

10

ATRT_T2.1

—— somatic
germline

0.0 0.2 0.4 0.6 0.8
N =39 Bandwidth = 0.01307
ATRT T2..4
—— somatic
germline
N\
T T T T T T
00 02 04 06 08 10

N =39 Bandwidth = 0.0255

Density

Density

ATRT_T2..2

—— somatic
germline

N

T
0.0

T T T T T
02 04 06 08 10

N =39 Bandwidth = 0.03169

ATRT_T2.5

—— somatic
germline

T
0.0

T T T T T
02 04 06 08 10

N =39 Bandwidth = 0.03002

Density

Density

100 150 200 250

50

ATRT_T2..3

—— somatic
germline

T T T T T T
00 02 04 06 08 10

N =39 Bandwidth = 0.04051

ATRT _T2..GL
—— somatic
germline
A
T T T T
0.0 0.2 0.4 0.6

N =39 Bandwidth = 0.001316




